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Addition   

 
 



    
  
Grouping tens  
34 + 23 = 57  
  

   +20  
54           57 

Stage 6: Partitioning tens 
and units horizontally 
(KS2 or when appropriate)  
  
  

Move on to vertical 
partitioning Tens and units 
and hundreds and tens and 
units.  

47 + 76 = (40 + 70) + (7 + 6)  leading to    
                             = 110 + 13  
                             = 123  

Stage 7: Partition numbers 
vertically in a column  

      47  =   40  +  7  
 +  76  =   70 +  6  
               110 + 13 = 123  

  34                        

+3   



Stage 8: The numbers in  
columns adding the units 
first  

  67 + 24   
             67  
         +  24  
             1 1    
             80     
             9 1  
  
131 + 209  
  
          131  
       + 209  
            10  
            30  
          300  

                      340  

Stage 9: Compact method – 
where numbers get carried 
into the next column  

Move on to adding with 
decimals up to three 
decimal places  

587 + 475  
                           587           
                       +  475         
                         1062         
                                        1  1    

3587 + 675  
                          3587  
                       +   
675                                           
                                  4262 

1   1  1   
  
  
  
  
  
  
  
  
  



  
Subtraction  
  
  

 



Stage 5: Partitioned numbers are then 
written under one another – this is how we 
start to introduce the column subtraction 
method  
(KS2 or when appropriate)  

  74 -23  
7 0 + 4  

    2  0 + 3  
    5  0 + 1  = 51  
   

 

Stage 6: Expanded decomposition (2 digit 
numbers)  
Leads to the shorter version of the column 
subtraction method. We always start with 
the units number  

  74 – 27  
7 0 + 4     

    2  0 + 7  
  

       60      14  
7 0 + 4     

    2  0 + 7  
    4  0 + 7 = 47  

Stage 6: Expanded decomposition (3 digit 
numbers)  
  

  741-367  
    7 0 0 + 4 0 + 1  
    3 0 0 + 6 0 + 7  
  

     600          130       11  
   7 0 0 + 4 0 + 1  
   3 0 0 + 6 0 + 7  
   3 0 0 + 7 0 + 4= 374  

Stage 7: Compact Decomposition    74- 27  
6 14  
7 4     
    2   7  
     4  7  
  
6 13    11  
7 4  1  
   3  6  7  
3 7   4  
  
5008-1257  
        9  
4 10   10  
5 0  0  8  
 1  2  5  7  
 3  7  5  1  
  

 

  
  
 
 



Multiplication  
  

 
 



Children should describe what they do by 
saying the actual values of digits in the 
columns for example the first step in 3 8 x 7 
is 30 multiplied by 7 not 3 x 7.  

   
Leading to condensed version of long multiplication  
  
   3 8  
x    7    
5 6  
 2 1 0   
 2 6 6  
  
56x27 is approximately 60 x 30= 1800  
  
         5 6   
 X     2 7  
   1 0 0 0   
      1 2 0  
3 5 0   
4 2  
    1 5 1 2   
        1   

Stage 7: Short multiplication  
The step here involves adding 210 and 50 
mentally with only the 5 in the tens column 
being recorded.  
  
  
  
  
  
2 digit x 2 digit and beyond.  
Using rounding to make an estimation prior 
to the calculation.  

TU x U  
TU x TU  
HTU x TU  
ThHTU x U  

    
 
  3  8  
x    7 

   2 6 6 
 5   

 
3 8 x 5 6 is approximately 3 0 x 6 0 = 1 8 0 0   
  
      3 8  
X   5 6  
     4 8  
   1 8 0  

  
  



       4 0  
1 5 0 0   
1 7 6 8  
  1  

  
   



Division   
 

 



 

  
  
  
  
  
  
Including repeated subtraction leading to a  
remainder.   
  
  
  
  

  
  
  
  
  
13 ÷3= 4r 1   
  
  
  
0     1    2    3    4    5    6    7    8    9    10  11   12   13   

Stage 4: Repeated Subtraction, subtracting  
multiples of the  divisor.   
( KS2 or when appropriate )   
  
  
  
  
  

All times tables   
TU ÷ U   

  
                                       ( 4 x5=20  - 20)   
1 ( x5=5  - 5)   
          
  
           7                               2                         27   

Stage 5: Chunking method   TU ÷ U   
HTU ÷ U   
TU ÷ TU   

  
 ÷  6 96   

  
             6 1   
                    6 96  )      
                        -    60     x     10   
           36   
        -    36      6 x   
           0   
  
    Answer :        16       
  
  =  5 6 ÷ 7  2   
         
              6   2  5   7   
                        0             1 0 x 7  7   

    1    2    3    4    5    6  0     12     8    9    10  11    7   

  0   1      2   4  5  6  7  8  9    10 3   11   12  13  14  15   18 16  17    19   2 0   



 
  1 8  6  

- 1    4  0            2 0 x 7  
     4   6  
     4   2               6 x 7  
          4  
  
So 1 0 + 2 0 + 6 = 3 6 r 4   

Stage 5: Short Division  TU ÷ U  
HTU ÷ U   
TU ÷ TU  
HTU ÷ TU  

560 ÷  4  
              1  4 0  
  4 ) 5 16 0    
  

Stage 6: Long Division  TU ÷ U  
HTU ÷ U   
TU ÷ TU  
HTU ÷ TU  

5 6 0 ÷ 2 4  
                              2 3  

2 4 ) 5 6 0   
     4  8 0  
         8 0  
         7 2  
            8  
  
Answer 23 r 8  

  
  


